
✴
✴

✴ - NOT SHOWN

 PART NO DESCRIPTION QTY.
1 7103572 ENGINE ASSY (DS3532) 1
2 7103574 PUMP ASSY (DS3532) 1
2.1   7102199 PUMP, 3500psi TX1508A 1
2.2   7101331 THERMAL RELIEF VALVE .500 NPT-M 1
2.3   7100495 ADAPTER, GARDEN FEM. TO .50 NPT FEM. 1
2.4   7100019 COUPLER, 3/8 QC-F x 3/8 NPT-F 1
2.5   7102207 CHEMICAL HOSE AND FILTER KIT 1
3 7103583 FRAME ASSY 1
4 7103587 HANDLE ASSY, REAR 1
4.1    TUBE HANDLE 1
4.2   7103270 DECAL PANEL (DEWALT YELLOW) 1
4.3     SELF-TAPPING SCREW, TORX 1/4-20 4
4.4   7103161 5 NOZZLE HOLDER, RUBBER 1
5 7103277 ENGINE MOUNT HARDWARE KIT 1
5.1    BOLT, WHIZ 3/8-16 X 2.0 4
5.2    NUT, WHIZ 3/8-16, ZINC 4
6 7103279 PUMP MOUNTING HARDWARE KIT 1
6.1    BOLT 3/8-16 x 1 1/4 HX HD GR5 4
6.2    WASHER, .375 SPLIT-LOCK 4
7 7103287 WHEEL KIT 2
7.1    WHEEL 13.0 x 5.0-6 BLACK 1
7.2    LOCKING COLLAR, 5/8 1
8 7103292 FOOT KIT 2
8.1    RUBBER FOOT, 1.5 X .625 1
8.2    SCREW, SELF-TAPPING, .250-14 X .750 1
9 7100634 5 PC. 3.5 NOZZLE SET 1
10 7103240 GUN & WAND 5075PSI, 3/8 PLUG X M22-F OUT 1
11 7103261 LANCE, 31" M22-M TO 1/4" QC-F 1
12 7103516 HOSE, 4500psi, 3/8 X 50ft. QC-M TO QC-F 1
13 7103370 COLOR DISPLAY BOX, DS3532 1
14 7103367 OPERATOR'S MANUAL, DS3532 1

-

-

12/29/2009

-

-

J. PENUELAZ

SHEET 1 OF 5

D

12/29/2009S. FERN.

60448-S

DS3532

N/AWEIGHT:N/A

FNA-GROUPUNLESS OTHERWISE SPECIFIED:

DIMENSIONS ARE IN INCH [MM]
TOLERANCES:
ANGULAR:  2deg
TWO PL   0.015 [.38]
THREE PL  0.005 [13]

THE INFORMATION CONTAINED IN THIS 
DRAWING IS THE SOLE PROPERTY OF SIMPSON
-DELCO.  ANY REPRODUCTION IN PART OR AS 
A WHOLE WITHOUT THE WRITTEN PERMISSION
OF SIMPSON-DELCO IS PROHIBITED.

SCALE:

SIZE DWG.  NO.

A
REV.

MATERIAL

FINISH

DO  NOT  SCALE  DRAWINGAPPLICATION

USED ONNEXT ASSY

NAME DATE

DRAWN

CHECKED

ENG APPR.

MFG APPR.

Q.A.

COMMENTS:PROPRIETARY AND CONFIDENTIAL
AS NOTED

N/A

--



6.1
6.2

2 9

4.1

3

7.1

7.2

5.1

5.2

8.2

8.1

4.2

4.4

1

4.3

PUMP DETAIL

2.4

2.3 2.2

2.1

-

-

12/29/2009

-

-

J. PENUELAZ

SHEET 2 OF 5

D

12/29/2009S. FERN.

60448-S

DS3532

N/AWEIGHT:N/A

FNA-GROUPUNLESS OTHERWISE SPECIFIED:

DIMENSIONS ARE IN INCH [MM]
TOLERANCES:
ANGULAR:  2deg
TWO PL   0.015 [.38]
THREE PL  0.005 [13]

THE INFORMATION CONTAINED IN THIS 
DRAWING IS THE SOLE PROPERTY OF SIMPSON
-DELCO.  ANY REPRODUCTION IN PART OR AS 
A WHOLE WITHOUT THE WRITTEN PERMISSION
OF SIMPSON-DELCO IS PROHIBITED.

SCALE:

SIZE DWG.  NO.

A
REV.

MATERIAL

FINISH

DO  NOT  SCALE  DRAWINGAPPLICATION

USED ONNEXT ASSY

NAME DATE

DRAWN

CHECKED

ENG APPR.

MFG APPR.

Q.A.

COMMENTS:PROPRIETARY AND CONFIDENTIAL
AS NOTED

N/A

--



GUN & WAND 5075PSI, 3/8 PLUG X M22-F OUT
(PART NO. 7103240)

10

LANCE, 31" M22-M TO 1/4" QC-F
(PART NO. 7103261)

11

HOSE, 4500psi, .38in X 50ft. QC-M TO QC-F
(PART NO. 7103516)

12

CHEMICAL HOSE AND FILTER KIT
(PART NO. 7102207)

2.5

-

-

12/29/2009

-

-

J. PENUELAZ

SHEET 3 OF 5

D

12/29/2009S. FERN.

60448-S

DS3532

N/AWEIGHT:N/A

FNA-GROUPUNLESS OTHERWISE SPECIFIED:

DIMENSIONS ARE IN INCH [MM]
TOLERANCES:
ANGULAR:  2deg
TWO PL   0.015 [.38]
THREE PL  0.005 [13]

THE INFORMATION CONTAINED IN THIS 
DRAWING IS THE SOLE PROPERTY OF SIMPSON
-DELCO.  ANY REPRODUCTION IN PART OR AS 
A WHOLE WITHOUT THE WRITTEN PERMISSION
OF SIMPSON-DELCO IS PROHIBITED.

SCALE:

SIZE DWG.  NO.

A
REV.

MATERIAL

FINISH

DO  NOT  SCALE  DRAWINGAPPLICATION

USED ONNEXT ASSY

NAME DATE

DRAWN

CHECKED

ENG APPR.

MFG APPR.

Q.A.

COMMENTS:PROPRIETARY AND CONFIDENTIAL
AS NOTED

N/A

--






	Sheet1
	Drawing View10

	Sheet2
	Drawing View11
	Drawing View14

	Sheet3
	Drawing View46
	Drawing View47
	Drawing View48
	Drawing View49


